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A & 0l & AF 2 E A A
SN METRAD
. otHGtD BAS MBI I RR(BLES/HIIS)
ool dE HEE 29 EERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A4 2 X2 Dt 3,403,305 2,258,376 1,144,929
= 23,940
Al 3,379,365
oMot BASH MEXA JP F(BFES/HIIS) 2,882,238 1,700,940 1,181,298
= 23,940
Al 2,858,298
e HgE 249 2,569,644 1,412,770 1,156,874
gt - EUHEE 29 2,569,644 1,412,770 1,156,874
201 Let24d] 726,322 666,459 59,863
01 At 22l 72,767 56,469 16,298
O e+t 41,467
o HEgx® s22 M 3,000& = 800 2,400
o el HEgd 28 =8 ¢ 2,900
- AYES 3,000& = 3004 900
- Mgk 4,000& ~ 200= Xl 800
- 23 2,000& = 600 1,200
o HJI= BtYS M 400,000& = 13 400
o & +ZAAN =+F(BD S 28N &S
) 442,000& * 2004 * 123 10,608
o Xlote Z2AE =ZHAAM =+2(PH S 24
M E=) 167,500& * 8 & * 43 5,360
o BENEE XIIE LTAH @B £
= 635,800& * 1A * 128 7,630
o FUWMHEE XotE =84l &2 =
= 182,050& » 1A + 123 2,185
o HESHYT EAHAT HSEH B
=== 416,000& = 23] * 123 9,984
O 2g=¢ 6,000
o DIENEE XA oM HMLL
100,000& * 159 * 43 6,000
O gxz 25,300
o ZAHJ|(8W) 880,000& = 103l 8,800
o BZEY(15E8) 550,000& * 303l 16,500
02 2324l 653,555 609,990 43,565
O =322 % HMA 342,662
o UESHEH ==+ HAHMe B3ot=&E
MNEZ 2,3473 * 400m = 365¢ 342,662
O A& ZHI KX 128,777
o HEMHEE FA2el |l
4,500 = 1,000m 4,500
o GEMEE dXMcl&dl =X 2l
500,000& =« 9CH 4,500
o BIEMYE ALY BB
9,600,000& * 14 9,600
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S MEX
Ha: OMG

1D s MEXR DB A= (SAES/HIIS)
ool dE HEE 29 EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
SEETEEEEFEREEE
5,000 » 22 x 32 * 23| 1,020
O &3 Yol
85,000& x 2% x 3L x 43| 2,040
O GUYRABBEY A28 0
5,000 * 2 » 12 * 33 510
O HIISXEAE FHASIH2H F2E
2 HIIZ2 =KX ol
85,000 * 4% % 12 x 33 1,020
206 M = dl 643,687 530, 161 113,526
01 X2 bl 643,687 530, 161 113,526
O &&4 2 Kot 2EZAIE M= (8ts, &
W) 2,400,000€ = 1Al 2,400
O &&= MHeldE 2L 482,250,000& = 14 482,250
O Y - 252 M (8t &)
10,000& = 3,000 30,000
O M=H ¢ 4 000& » 279 * 33| 324
O@s+ Hel ¥ HERY €7 7Y
27,000 * 14= 378
O @8+ Hol® JINE FYS 2 2
523,600 « 14l 524
O &&= Maws L JHS N 2
788,900 « 14l 789
O o= SUHHEZ FMIIAE SX 242 &)
ABE 22 2,000,000& = 1Al 2,000
O QUM A gtdokE nol(ots | L)
28,000 * 14 = 2,0007H 56,000
O BENHYY FH IS 2 25 7
22,029,600 = 14! 22,030
O got 428 7Y(BE, W)
1,430,000 = 14! 1,430
O 2UHEgd ga9s g8 2¢
4,935,000& = 14l 4,935
OISHEZE JIIAZTAIEE IO 2
40,627,000 = 14! 40,627
301 LBt A= 68,685 54,200 14,485
09 HAIAHI BEAZ 2,250 2,250 0
O FUNAHMIS HYE HSFX A8
50,000 * 15% » 3¢ 2,250
12 J|IEtE2 A= 66,435 51,950 14,485
O HIISHeAlY =0 2AIESH|(2HE) 66,435
o olgQl 74,800 « 3H x 230 51,612
o FXxE 74,800 x 3H x 46F 10,323
o AMNFEEES 4,500,000& = 1A 4,500
307 2Iz2to| & 120,000 156,000 A 36,000
05 QIZ2tRE 2 120,000 156,000 A 36,000




SN METRAD
M OLMGD FES MBI I8 PE(BEESS/HIIS)
ool dE HEE 29 EERED
5 - 4
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
O ELHHEE &4 A=l
10,000,000& = 12&€ 120,000
308 XX G SO|IA 1,005,000 0 1,005,000
11 JIEIRE=2 1,005,000 0 1,005,000
O HJIs HAasdg=2 15,000& * 67,000= 1,005,000
HEd 48 Y otM2e| 312,594 288,170 24 424
= 23,940
Al 288,654
dEtd HEgds x4 65,394 58,170 7,224
101 Q121 H] 65,394 58,170 7,224
04 J12tHI2 IEE2 S 65,394 58,170 7,224
O HE & EHDI &golga 15,647
o SHE (0 =D &)
133,417& x 5 % 52 % 33 10,007
o HU(H=xD] &=HA)
133,417 * 4% * 42 « 23| 4,270
o ANFEEES 1,370,000& = 14! 1,370
O BIENYY FHIHXY LALS o=y 46,451
o ME, NE, BE, BE, QS
66,800 * 5H x 117¢ 39,078
o HE 66,800& * 1 x 46 3,073
o ANIEBE= 4,300,000 = 14 4,300
O EUHMEE =7 % 222AEE Ea 3,296
o olgQl 66,800 * 3% * 52 « 33| 3,006
o AISIEEZ= 290,000& = 14 290
OHESHE A Ald & B 22,000 100,000 A 78,000
401 Al HI L £ 0HHI 22,000 100,000 A 78,000
01 A& Hl 22,000 99, 100 ANT7,100
O BEHEE SF ARA OF
22,000,000& * 14 22,000
OHEME A EE4 HeAld H| 20,000 20,000 0
401 AlEHIZL 2 0HY| 20,000 20,000 0
01 Al& b 19,784 19,784 0
O =g d &4 HelAld &34
20,000,000& = 98.92/100 19,784
03 AlE 20| 216 216 0
O 2sHE® 54+ HelAg Fl
20,000,000€ = 1.08/100 216
2LHEE Al & B 52,000 40,000 12,000
401 AlEHIZL £ 0HY| 52,000 40,000 12,000
01 Al&H| 51,568 39,568 12,000




A MEX D
MM orMolD S MEXR J|E AE(SFHALES/HIIS)
el HE & =4  ord 22| (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O ELHHEE Hix==2 &l
40,000,000 * 98.92/100 39,568
O ELUHEE SESHAIRA 0olA
12,000,000& = 1A 12,000
03 AlE 201 | 432 432 0
O ELHHEZE Hix==2 &l
40,000,000 = 1.08/100 432
HIIZ2 HEANE WRAHsHD} 30,000 70,000 A 40,000
401 AlEHIZL 201 Y| 30,000 70,000 A 40,000
01 A& H| 29,676 69,461 N 39,785
OISE R JIHA sS4 Y4
30,000,000 = 98.92/ 29,676
03 A& 20| 324 539 A215
O BHEUEE JIHL =4 24
30,000,000 = 1.08/100 324
KX (HEHE A 53,200 0 53,200
= 23,940
Al 29,260
401 Al HI L 204 HI 53,200 0 53,200
= 23,940
Al 29,260
1 Al&H| 51,205 0 51,205
O CHEHE 2 By SHEAIA
53,200,000 = 96.25/100 51,205
= 23,042
Al 28,163
02 2teldl| 1,516 0 1,516
O CHEHE 2 BN 2EAlAE 202/ HI(2.85%)
1,516,000& = 14! 1,516
= 682
Al 834
03 Al 20| 479 0 479
O OESHE 2 B SEAIL
53,200,000 = 0.9/100 479
= 216
Al 263
HEHEE Jt2s AX3A 70,000 0 70,000
401 Al EHI L 204 HI 70,000 0 70,000
1 Al& H| 69,370 0 69,370
O CHSHEZE IS 4AX(F=RIEN)
0,000,000& * 99.1/100 69,370
03 Al 201 | 630 0 630
O SsiHgd Ji2s Al
70,000,000 = 0.9/100 630
SHM A A (M) (IIEH/DIE 306,067 342,436 N 36,369




ME T
HH2 A (Y2
ol 2yl

2 DH) (D1 EFH/ DI E})

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ol 2HH| 122,943 143,398 N 20,455
ol 122,943 143,398 £20,455
101 e1214| 122,943 143,398 N 20,455
01 2 19,164 33,949 N 14,785
O Hg® 22 & S EHH Y U222 19,164
o 62 91,6483 * 3% x 34 825
o 73 82,786& * HhH x 3L 1,242
o 7= (&) 82,786 x 2 x 44 7,286
o 82 (&Hl) 74,3203 « 3YH x 44 9,811
02 JIEA 2 % 66,763 68,408 N 1,645
O HKAHEE AN2AA22LE =2 38,267
o A4 11,2143 « 18 = 57AI2t « 128 7,671
o A& 9,481& = 1 = 57Al2t « 12& 6,486
o =4 8,812 * 4% x 57AI2t » 12& 24,110
O HYAFE 52224 10,345
o HAHF(LLE) 76,2143 « 1H x 23¢ 1,753
o =Z&(8ts) 70,836& x 2% x 23¢ 3,259
o (W) 90, 141& » 1€ » 23¢ 2,074
o =Z(&W) 70,836 * 2% x 23 3,259
O HLKHE o2 18,151
o AHF(BLE)
3,160 H x BAIZ2F x 3652 x 1/3 3,076
o =& (8tg)
2,937 x 29 x BAIZ2F x 365 * 1/3 5,718
o AA(EW)
3,738 H x BAIZ2F x 3652 x 1/3 3,639
o A ()
2,937 * 29 x 8BAIZ2F x 3652 * 1/3 5,718
03 2IHAZ=2XHE 37,016 41,041 N4 ,025
O A2t 22Y 24,565
o <LI>&EFZ
12,695& = 3 * 20A12F * 128 * 150% 13,711
o AL
15,075 * 20A12F = 128 * 150% 10,854
O s¢22xg 12,451
o & FHe 2 MEgs&
151,314 + 28 x 2 606
o MHg& 2¢d 154,392& = 1% » 13Y 2,008
o EAHDISE 182, 1543 * 2% « 27¢ 9,837
| 2 &l 183,124 199,038 N 15,914
Jl2 &4l 183,124 199,038 N 15,914
201 LBt 167,983 183, 131 N 15,148




SN MBXED
M HHE2FAH (MBI D) (IIEHIIE)
chel: Jl= 2| (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 59,464 62,554 A 3,090
O 2it>=8Hl SHAA 11,189,000& 14 11,189
O 2g==g SHAHL 28,860,000& = 14 28,860
O I=Hl SHAH& 2,500,000& * 14 2,500
O =SEdl SAAH& 16,915,000& * 14 16,915
02 =224l 108,519 120,577 A 12,058
O 3322 % MA sA8AH 4
102,813,000& * 14 102,813
O dZH S & 5,706,000 * 14 5,706
202 oddl 10,341 11,107 AT66
01 = LH o4 1l 10,341 11,107 AT66
O BA2Y SHAH& 10,341,000& * 14 10,341
203 YR =] 4,800 4,800 0
04 FEANSEH =L 4,800 4,800 0
O METHan(279) 400,000& = 12& 4,800
MRS (M) (3223 /HII8) 215,000 215,000 0
HEAHHX = 215,000 215,000 0
HEHAH X = 215,000 215,000 0
702 JIS3HES 215,000 215,000 0
(O RPIE=RSE-<3= 215,000 215,000 0
O UHESHEEFHISNAFUXNRAAIIS &3 215,000
o HIIZ2 ¢e=s=2
25,000& * 66,000& * 10/100 165,000
o EEX&A NE2 50,000,000& = 14 50,000






